
Difficult level example
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Peninsula method (T&T) a=a, b=b hence c=c
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Hence c=c=c=c Let's assume that
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I fill row 3 I fill row 4 I fill column 4
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I fill row 5 Simple steps

Method of double 

peninsula (T&T)

The zone will contain 2 dots for 

which the offense is an empty line

Columns 1 and 2 cannot 

contain more than 5 dots

This is therefore the 

right way

I fill in the highlighted 

area

I fill in the highlighted 

areas

> 0

> 0

> 0

Here techniques presented 
in the tips & tricks section 
are used


